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TECHNICAL ENGLISH
e ——

Answer the following seven questions. Time allowed : 2 hours.

Question 1 (5 Marks)

Write about eight lines on ONE of these topics:
(1) Architecture
(2) Heat transfer
{3) Engineering ethics

Question 2 (5 Marks)
Complete these statements:
(1) The hyperbola is defined as ......
(2) The protractor is used for ......
(3) Newton’s second law of motion states that ......
(4) The hypotenuse is ......
(5) Mercury is employed in thermometers, having ......

Question 3 (5 Marks)
Choose the most suitable expression:
(1) The driving function is independent (on, of, from) the time variable.
(2) The figure shows a graph for stress (vs., viz., i.e.) strain.
(3) The modified cooling system has made the chemical stabilizer (operates, to
operate, operate) much more efficiently.
(4) By adjusting the nuts, the load (exceeded, exhausted, exerted) by the spring
can easily be varied.
(5) 1 want to find (off. out, up) the meaning of the ‘internal combustion
engine’.

Question 4 (5 Marks)
Follow the requirements given in brackets:
(1) This empirical formula serves as the starting point in the design technique.
(Use *serve to’ instead of *serve as’).
(2) Screws can be cut on a lathe. (Change into passive).
(3) Delivery of the new cranes should start by the middle of next month.
(Decide on the meaning of ‘should”).
(4) Inconsistent units. [he mathematical mode! vielded erroneous conclusions.
(Link the two expressions using ‘result in’).
(5) A thermocouple consists of two ...... of two different metallic wires. (Fill
in the blank with an abstract noun formed from the verb ‘join’).

continued on page 2




Question 5 (7 Marks)
Translate into English:

sl ke e Jeslag b s o el Sl pabyy o JRd J e sl o A8l
AL Sl s ASSS Leie Badaie pes ABllly Lo 3Rl eda il iad auall dal)) laiey
poe e L28 Yy i Y BN o las g peall Budadl BEAN ey . gl el Agagilly A adly
Al S Bl ) SIS A Jgai JBall i b o s 3] 1550 (e J g LS
) e AU iy L Al el S jaall B sameall g8 el Laty Al Sl iyl
gl (James Joule) " Jss peass " g plady) el e Ao ® Jsa " cadifan g ) go

i gl oy il A 4 plal) (5 5
Question 6 (7 Marks)
Translate into Arabic:
The cycloid is a mathematical curve, defined as the locus of a point on the
circumference of a circle which is rolling, without slipping, along a straight line in
a plane. This curve is encountered in many interesting scientific areas. Do you
know, for example, what is the shape of the path along which a particle will slide
from some point A down to some other point B in the shortest possible time? It 18
not a straight line joining points A and B as you may think ; it is actually an
inverted cycloid passing through the two points, In electron ballistics, as another
example, if an elcctron is released in an electric field perpendicular to a magnetic
field, the path of the electron will be part of a cycloid.

Question 7 (6 Marks)
Give Arabic equivalents for these technical terms:

Artificial intelligence Descriptive geometry
Fractional distillation Friction losses
Maintenance engineering Modulus of clasticity
Moment of inertia Mumerical analysis
Oscillatory response Performance criterion
Pneumatic system Reinforced concrete
Valence orbit World-wide web

T e T e  — S ————
Prof. Dr. Mahmoud M. Fahmy
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